
Osborne AGRI-AIDE Wind Diverters are packaged carefully and 
compactly to ensure their safe arrival at minimum cost. Each part 
was quality inspected prior to shipment and each carton was 
carefully packed to ensure that all necessary parts were present 
for the assembly.

UNPACKING
Upon receiving your shipment, check the cartons for in transit 
handling damage. ALERT THE DELIVERING CARRIER 
IMMEDIATELY if damage is discovered. Continue unpacking only 
after the carrier has acknowledged the damage and potential loss 
of contents.

NOTICE
All loss or damage in transit is the responsibility of the delivering 
carrier, NOT OSBORNE INDUSTRIES. To protect your rights in 
the event of damage or loss, sign the delivery waybill only after 
the carrier has acknowledged in writing that damage or loss 
has occurred. In the event that damage is revealed only after 
unpacking is complete, notify the delivering carrier immediately 
and request an inspection of the damaged merchandise before 
proceeding.

The 36-in. Wind Diverter Kit (WDK) is designed to fit the AGRI-
AIDE 36-in. Flushmount Fan (FV-M3611V). The hole locations 
on the wind diverter cone may need adjustment to fit fans 
of other manufacturers.

ASSEMBLY INSTRUCTIONS
1. Drill four (4) 1-4-in. holes and one 3/16-in. hole through 

the cone at the indented markings on the part as shown in 
Figure 1.

2. Attach the two (2) 2 x 17-in. aluminum brackets to the cone 
as shown in Figure 2. Follow the attachment diagram in Figure 
3 using the four (4) 1/4-in. bolts, lock nuts, and washers 
provided. Tighten firmly, but do no overtighten.

3. Attach the 1 x 10-in. 
aluminum bracket to the cone 
as shown in Figure 2. Follow the 
attachment diagram in Figure 3 
using the 10-32 bolt, lock nut, 
and washer provided. Tighten 
firmly, but do not overtighten. 

WARNING: DO NOT 
OVERTIGHTEN BOLTS 
AS DAMAGE TO THE 

FIBERGLASS CONE OR FAN 
HOUSING MAY OCCUR. 

 
 

4. Align the assembled wind diverter on the fan housing with 
the correct spacing between the cone and housing as 
shown in Figure 4. Fasten the aluminum brackets to the fan 
housing with the bolts, nuts, and washers provided. Follow 
the attachment diagram in Figure 3. Tighten firmly, but do 
not overtighten.

Parts List
Part Number Description Qty
SV-AE9117 Fiberglass-reinforced cone 1

SV-AE9107 1 x 10-in. aluminum bracket 1

SV-AE9110 2 x 17-in. aluminum bracket 2

RFB-1401 1/4 x 1-in. bolt, SS 8

RFN-1401 1/4-in. hex lock nut, SS 8

RFW-1201 1/4-in. flat washer, SS 8

RFB-0841 10-32 x 3/4-in. bolt, SS 3

RFN-0801 10-32 hex lock nut, SS 3

RFW-0951 3/16 x 1 fender washer, SS 3

RLX-0638_B

36-in. Wind Diverter Kit
Installation Instructions

FV-WDK036AGRI-AIDE® Ventilation

P.O. Box 388 • Osborne, KS 67473 U.S.A.
Phone: 1-800-255-0316 • Fax: 1-785-346-2194

sales@osborne-ind.com • www.osbornelivestockequipment.com

Drill 3/16-in. hole (1 ea.)

Drill 1/4-in. hole (4 ea.)

FIGURE 1

SV-AE9107 SV-AE9117

SV-AE9107

SV-AE9117

FIGURE 2

SV-AE-9107 or 
SV-AE9110

RFN-1401 or
RFN-0801

Cone

RFW-1201 or
RFW-0951

RFB-1401 or
RFB-0841

FIGURE 3

7”

16-5/8”

Fan Housing

SV-AE9110

SV-AE9107

10-32 bolts
10-32 nuts
3/16-in. fender washers

1/4-in. bolts
1/4-in. nuts
1/4-in. washers

FIGURE 4

Cone


